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[_TvC(c,b,ch)=(3,7,0) J**/®] [_TVC(cb.ch)=(3,7,1) F"°=1 [ TvC(cb,ch)=(3,7,2) F*] [ _TvC(c,b.ch)=(3,7,3) f**'>
4000 e, ' [pr 35162000 4000 o, ' [pr 3501000 4000 ' [pr 36062000 4000 ' [pr 35372000
3000 E 3000} 4 3000 — — 3000f E
2000 4 2000 4 2000 - - 2000 4
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[_TvC(c.b.ch)=(3.7,4) F='®1 [ _TVC(c.b.ch)=(3.7.5) F*°=1 [ TVC(cb,ch)=(3,7.6) F=**] [ TvC(c,b.ch)=(3,7,7) Fi=*'>
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[_TVC(c,b,ch)=(3,11,0) J*/#1 | TVC(c,b,ch)=(3,11,1) J'=} [ TvC(c,b,ch)=(3,11,2) F*'*] [ TVC(c,b,ch)=(3,11,3) J=*'>
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[veehen=G it a) o] [veeben=(3115) For| [veeben=(a1r6) Jors| [Voepen=G i) fos
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